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Scramble (Solution)

This is based off the meme that you can read still comprehend English text if the first and last letters are
fixed while the rest are permuted. If you attempt to do that, you’ll find that exactly one word per sentence
has an incorrect letter:

e wrrd: r — 0

e esut: e —

e ciodnatnng: d — i
e plorabcy: ¢ — b

e oree: 0 — W

e altnlautenmitpe: 1— e
e degoinit: 0 — 1

e norrstrteehn: r — a
e lgoeer: e — n

e msaesde: d — g

e truesfahs: f — u

e rtehir: i — a

e aasrrend: s — g

e cetrhnocd: h — e

The correct letters spell out the answer, OJIBWE LANGUAGE.



